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Rohde & Schwarz propose an LS to RAN4 as follows: 
The test  “10.2 Detection of E-DCH HARQ ACK Indicator Channel (E-HICH)” is twofold:
1. The minimum requirement for missed ACK probability = 0.01. According to the intention of this requirement the “Good” side is < 0.01, with an ideal value = 0, and the “Bad” side is > 0.01  RAN 5 derives a test from this minimum requirement first by introducing a confidence level and selectivity. Then the pass fail limit can be calculated.

2. The minimum requirement for false ACK probability = 0.5.
The underlaying sequence for this value is:

· The UE sends E-DPCCH with E-DPDCH
· The system misses this E-DPCCH and hence returns neither ACK nor NACK.

· The UE expects ACK or NACK but receives “DTX”. 

· DTX is neither allocated to New Data nor to Retransmission for the next transmission. 
· Upon reception of DTX the UE shall distribute the next transmission symmetrically between New Data and Retransmission.
Hence the minimum requirements should be phrased as follows:

False ACK propability = 0.5 ± bias, 

where “bias” is the essential minimum requirement.  0.5 is the ideal value.
RAN5 would like to ask RAN4
a) whether the understanding in (2.) is correct
b) to develop a minimum requirement “bias” 

Reference: R1-050347
Note: All probabilities, mentioned in this paper are related to values  by “≤”, except p4 (false ACK). This is related to 0.5 by “=”.
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